oth Grade
-




MYSTERY science

Worksheets

Web of Life Mysteries:

@

NGS5 Grade 5 Unit

Mystery 2
Why would a What do plants eat? Where do fallen
hawk move to leaves go?
New York City?

Do worms really Why do you have to Why did the dinosaurs
eat dirt? clean a fish tank but go extinct?
not a pond?
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R u I e S MYSTERY:cicrce
Web of Life | Mysieny 1

THE GOALS « Make as many food chains as you can.
; » Make the chains as long as you can.
OF THE GAME: (Longer chains get bonus points!)

HOW SCORING WORKS: HOW STEALING WORKS:

You'll get 1 pﬂ““ for every = You CAN'T steal on the first round.

card in a food chain: « Starting in the second round, you

can choose a card from the center
st s . e stack or you can STEAL a card
——= = from another player if you can use
=gy Srewer ) T that stolen card to make a chain
- - - right away.

# You CAN'T steal a card that is

3 cards = 3 points already in a player’s food chain.

If your chain is 4 cards or

longer, you get an extra ——
Z s o TIP: THINK CAREFULLY | Oak e,
e [ [ | Read the cards

o ﬂ#, B |22k || 55 carefully. The Cricket

el | Uil = Bt card says crickets eat | |

leaves. The Oak Tree 4 o b |

Ficaras has leaves. That 5 - |

+ 2 bonus points means the cricket can I am eaten! |

= 6 points eat the oak tree! = ||

. You can rearrange your food chains whenever you want.
TIP: REARRANGE Take them apart and put them together in different ways.
YOUR CHAINS Can you figure out ways to get longer chains?



Score Card

1. WRITE DOWN YOUR LONGEST CHAIN:

eats eats eats

eats eats . Yum!

2. ADD UP YOUR SCORE! use the back if you run out of room:

Chain 1: Write down how many cards are in the chain:
’ If there are 4 or more, add 2 bonus points:

Chain 2: Write down how many cards are in the chain:
" Ifthere are 4 or more, add 2 bonus points:

Chain 3: Write down how many cards are in the chain:
If there are 4 or more, add 2 bonus points:

Ghﬂiﬂ 4: Write down how many cards are in the chain:
If there are 4 or more, add 2 bonus points:

Ghai“ 5: Write down how many cards are in the chain:
If there are 4 or more, add 2 bonus points:

7 TOTAL points = points

¢

MYSTERY

SCIENCE M

'(f z Webof Life | Mystery 31 Gt il
o S Fal
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Web of Life ik

Date:
Mystery 1: Why would a hawk move
to New York City?

End of Mystery Assessment

1. How would you describe a food chain to someone who hasn't thought about that idea before?

2. When you go "down” the food chain by continuing to ask "What does it eat? at what category
of living things do you always end up?

MYSTERY :cicrce
Web of Life | Mystery 1



J. Rather than showing just one food chain, the images below show a habitat, where several
food chains are linked to each other. Draw armows connecting each of these living things by
what they eat, then answer question #4.

falcon

4. When you connect all the different food chains within one habitat, like you did above. what
words or phrase do you think best describe how this diagram looks? Why?

MYSTERY :cicrce
Web of Life | Mystery 1



5. Research: Choose any animal, such as your favorite animal, then use a trustworthy source of
information to find out the answers to the two "food chain™ questions, which you should write
below. (If your animal isn't eaten by anything else, that's okay, just be sure to say 50.)

Animal:

MYSTERY :cicrce
Web of Life | Mystery 1
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Web of Life ik

Date:
Mystery 2: What do plants eat?

End of Mystery Assessment

1. How do you know that a tree izn't gaining its weight from the soil?

2. What do you think would happen to a plant if you put tape on the undersides of its leaves?
Wihy?

3. Inthe experiment where the scientist weighed a tree and its soil, even though the soil barely
lost any weight, it did lose a little bit of weight. Given what you know about plants, why do
you think that happened?

MYSTERY :cicrce
Web of Life | Mystery 2



4. Many people who haven't learmned about planis believe that plants eat soil. What are some
reasons why they might think that?

MYSTERY :cicrce
Web of Life | Mystery 2



' T Your Plan & Mame:
mnﬁ Prediction Dt

1. Discuss with your team:
How do you want to make your team's Mold Terrarium different from the Basic Terrarium®?

Write down at least 4 different conditions you want to test, and circle your team’s two favorite ideas.

2. After the group discussion, what's your team’s plan?

3. What's your team name?

4. Draw your set up (the bag, plate, & food) 5. Do you think moid in your terrarium will grow

faster or slower than mold in the basic

terrarium? Why do you think that?

J

What our 2et-up locked like on {date)

MYSTERY :-cicnce

Web of Life | Mystery #3



: | X Growth & e
Mﬂj Observations Date started:

Example: Colorin | More than %
the battarn three Y maldy
circles when mald % moldy

TEAM covers % the food | First mold
CONDITION:

1]2/3[a[s]6]78[910[1 )12 |esciveor

Mark the days when — 1 1 1 [ draw the mold
you check for mold ey | (zhape, color...)
.and1: -I'u'h:rrethar!}ﬁ §.§§§§§ §§§§§§

.}Eﬁldy .
Sme Eﬁﬁu 60000600600000
e |13 § 3888883838
__ umiy OO OOO000000

;Eﬁmmﬂ GiGGGGGG:GDGGG
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Web of Life ik

Date:
Mystery 3: Where do fallen leaves go?

End of Mystery Assessment

1. Mushrooms and plants both have roots that grow in the soil. But how are mushroom roots
different from plant roots?

2. Why do you think that scientists group mushrooms and mold together in the same category,
the fungi?

MYSTERY :cicrce
Web of Life | Mystery 3



Jd. Inthe mold terrarum experiment, why do you think it was important to only change one
condition per plate? For example, why not change two conditions at once, like adding =salt to
the food while also putting the plate near a heater?

MYSTERY :cicrce
Web of Life | Mystery 3



MName:

Worm Watcher Worksheet

1) Observe your worm and draw it here. It has no Tips for a good observation
legs, yet it moves around. How does it manage = Don’t disturb the worm after putting it on the plate.
that? if you like, draw a cartoon strip showing You want lo see what it does all on its own.
how your worm changes as it moves around. If « Be patienl [ can take a while for it o start mowving.
you need more space, use the back of the paper. * While waiting for your worm to move, check out

what other people’'s worms are doing.

2)  Waich your worm for a few minutes and write down what it does. (After a few minutes, most worms stop
exploring and settle down where they are most comfortable. )

3) Look at all the worms in your group. What do you notice about the placas the worm chose to settle? Are
those places wet or dry, dark or bright, in the open or under cover?

MYSTERY
sclience

‘Web of Life | Mystery 4



MName:

Ask a Worm Worksheet

Experimant to test the conclusion that worms like damp places. Mote what happens below:

1)

2)

3)

4)

3)

B)

My name:

Partner's name:

Partner's name:

Partner's name:

What might affect a worm's behavior (like light vs. dark)?

Results. Shade in how much of the worm i on the damp side.

]C’

j

| | -
Mone on About Y About ¥a About % Al on
damp on Qamg on damp on damp damg
F B 2
Mone on About Vs About ¥z Ahout 3% All on
damip on damp on damp on damp damg
F 5 | :
N i
I I |
hone on About Y About & Abhout Y All on
damp on damp on damp on damp damg
—_
e 1 2
Wone on Abhout Y About 5 About ¥ All on
damp on damp on damp on damp damg

Think of some questions you have about what worms like (or what they dislike):

MYSTERY
sclience

‘Web of Life | Mystery 4



MName:

I

o ——

Ask a Worm Worksheet, continued <—

71 Write the question you've decided to explore:

8) Describe or draw a picture of an experiment that you could do to find out the answer to your question.

(Use the back if you need more space.)

9  What can you do to make sure your experiment is a fair test?

MYSTERY
sclience

‘Web of Life | Mystery 4



Web of Life ki

Date:
Mystery 4: Do worms really eat dirt?

End of Mystery Assessment

1. Which is NOT true about earthworms’ role in the environment?
a. They mix and loosen soil
b. They break down decaying plant material
c. They eat plants’ roots
d. They release nutrients plants need to grow

2. Which of the following is NOT a good example of using evidence to support a claim about
earthwomms?
a. Worms burrow underground and hide under things away from the light. Therefore,
wiorms like darkness.
b. Worms look a lot like caterpillars, which are pests. Therefore, wormz must also be pests.
c. Worms dig burrows and move the soil like farmers do with plows. Therefore, worms help
plants to grow because they move and loosen the soil.
d. Worm castings have more nutrients than the dirt around them. Therefore, worms are
helpful to plants, because worms add nuirients o the soil that plants need.

3. TRUE or FALSE (circle one) Worms are the ONLY kind of decomposers.

4. Which of the following comrectly describes earthworms’ bodies and behavior? Put an "X’ next
to any statements you think are comect:

___ have soft, flexible bodies ____like damp places

____can move forward or backward ____ have large chewing mouths
____have a dry, scaly outer layer ____can sense light

____lve in burrows underground ____ often come out when it rains

Looking at the answers you chose above, how do you think these characteristics make worms
adapted (well-suited) to living underground?

(more space on next page...)
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5. Below is an experiment that students designed to test whether earthworms prefer soil with or
without sand. The students filled a worm box with different mixtures of soil and sand.

worm box
anly sail Y soi ¥ moil Y soil onily sand
Ve sand a sand T

e

They got 5 worms and put all 5 into the box at the same time. at the end of the box with only soil
(the arrow on the diagram shows the worms’ starting point).

They waited for ten minutes, and they found that all 5 worms stayed in the end of the box with
the =soil. They concluded that worms prefer soil with no sand.

A. Do you think this is a fair test? Why or why not?

B. How could you improve the experiment?

MYSTERY :cicrce
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PICK A CARD DISCARD PILE

Here's how to play:
¢ Whenit's yourtum, pick a card. Then play any card from your hand. You can:
C Put a card in your pond and adjust the carbon dioxide level, OR
o Read an Action Cand if you have one, follow its instructions, then put it
in the discard pile, OR
Throw a card away in the discard pile. /
* You cannot add something to your pond if it will move the carbon dioxide into
the unhealthy range. MYSTERY
e When your pond will support a Big Fish, say “Big Fishl" The Pond Checker will SCclence
use the worksheet to make sure your pond has everything your Big Fish needs. Webof Life| Mystery &
* Note: If you run out of cards in the pick-a-card pile, shuffle the discard pile and
make it into the pick-a-card pile.
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Name:

Check the Pond!

To make sure the pond is ready for a big fish, answer the questions below.
1) Are there at least three foods for the big fish? Yes No

2) Are there at least two decomposers to clean up the waste? Yes No

3) Use this chart and the carbon dioxide double-checker at the bottomn of this page
to make sure the pond is healthy:

Add up the carbon dioxide number on | Move the pointer to track the
the cards write them in this column. carbon dioxide points.

Big Fish Food Start at 15. Move the pointer to
add these points.

Producers Move the pointer to subtract
these points.

Decompasers Move the pointer to add these
points.

Big Fish ' 6 points  Move the pointer to add these

_ points.

What's the final carbon dioxide level?
{add the above numbers)

Is that a healthy level? Yes No

Carbon Dioxide Double-Checker:

HEALTHY ZONE
6|7 B (9 (10N |12 1B |4|15[16T (18|19 20 212223 24

MYSTERY
scrence
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Web of Life ki

Date:
Mystery 5: Why do you have to clean a fish tank
but not a pond?

End of Mystery Assessment

1. Producers...

a. use carbon dioxide and release oxygen.

b. include plants, algae, and phytoplankton.

c. make their own food, rather than eating other living things.
d

. all of the above
2. Decomposers...
a. are all microscopic (can only be seen under a microscope).
b. create nutrients out of the air that help plants grow.
C. break down wasie and dead material into nuirients for plants.
d. release ocxygen for animals to breathe.
3. take in carbon dioxide, but release carbon dioxide.
a. Decomposers andplants. ... ..o CONSUMers
B PR e e decomposers and Consumers
C. Decomposers and CONSUMers. ... .....coeeveeen.n plants
d. CONSUMEBIS. ..o e e emememm s decomposers and plants

4. TRUE or FALSE (circle one) An ecosystem includes all the producers, consumers, and
decomposers in an environment.

5. In your own words, why do you have to clean a fish tank but not a pond?

MYSTERY :cicrce
Web of Life | Mystery 5



6. Draw arrows on the ends of the connecting lines to show the directions of the movement of
matter through an ecosystem. Then, label each line using the answer choices below.

A) get eaten by B) diefexcrete waste ) release nutrients for D) lose leavesidie

7. Why do scientists find it helpful to create models of interactions in an ecosystem?

MYSTERY :cicrce
Web of Life | Mystery 5
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Mame:

Dinosaur Food Web

1. What animals do you think Tyrannosaurus rex would eat? Why do you think that?

2. List the animals you think can survive when the sunlight is blocked.

3. Why did some animals go extinct while other animals survived? Conslruct an
explanation using evidence from your food web.

MYSTERY
sclence
Web of Life | Mystery &



Web of Life ik

Date:
Mystery 6: Why did the dinosaurs go extinct?

End of Mystery Assessment

1. Which correctly shows the flow of energy through a food web?
a. Producers — decomposers — CONSUmers
b. Producers — consumers — decomposers
Cc. Decomposers — consumers — producers

2. Choose the statement that most accurately describes why the dinosaurs died.

The dinosaurs died from earthquakes set off by the asteroid impact.

The dinosaurs burned up instantly from a giant fireball caused by the asterpid.
Most dinosaurs starved due to the collapse of their food webs.

Most dinosaurs suffocated because they couldn’t breathe air full of asteroid dust.
The dinosaurs froze to death when the sun was blocked out.

@aanow

3. Which organisms were most likely to survive the Cretaceous extinction? Circle as many
choices as you want.

Omnivores Herbivores small animals Large animals
Camivores Decomposers Plants

For each of the answers you circled, explain why you chose it

MYSTERY :cicrce
Web of Life | Mystery &



4. Many scientists think that an asteroid caused the dinosaurs to go extinct.
Claim: An asteroid impact caused the dinosaurs to go extinct.

What are two pieces of evidence that support this claim? Make sure to explain your reasoning.

5. TRUE or FALSE? [circle one) Scientistz have reason to think that NOT ALL of the dinocsaurs
died in the Cretaceous extinction. Explain your answer:

MYSTERY :cicrce
Web of Life | Mystery &
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Mars Ecosystem Argument -
Part 1

Introduction: A eam of NASA engineers has come up with a design idea for a Mars Habitat. They

have made sure there is enough water, oxygen, carbon dioxide levels and heat to start with. They have
proposed 15 living things that will be in the ecosystem for food.

Slﬂl] 1: Look over the st of proposed organisms.
On each line, write the type of organism it is: D = decomposer, P = producer/plant, or A = animal.

Corn Wheat House Cat
Chicken Grass Goat
Beetles Apple Tree Pig
Jumping Veggie Garden Swallowtail
Spider with Parsley Caterpillar
Frog Mouse Dairy Cow
SOTenes

Web of Life | Perfformance Task



StEl] 2: Use the pravided Part 1 cards to arrange the organisms into a food web. Add your food web
below. Remember: Use arrows to show how nutrients and energy move through the ecosystem.

MYSTERY
sCIenCcCe
Web of Life | Performance Task



StEl] 3: Evaluate the proposed ecosystem. |dentify what will work and what will not work.

What will work in the Why will this work?
proposed ecosystem?
What science idea have you learned that
ﬁ helps you know this will work?

What will NOT work (or what is missing) Why will this NOT work??

in the proposed ecosystem?
What science idea that you leamed
explains why this will NOT work?

MYSTERY
=kl e T e
Web of Life | Perfformance Task



StEl] 4: make a claim about whether the proposed ecosystem will work or not:

| think the ecosystem will

Support with evidence and reasoning. Use the science ideas you have learned during this unit to

SUpPOrt your answer.

I think this because

MYSTERY
sCIenCcCe
Web of Life | Performance Task



Mars Ecosystem Argument Vi

Part 2

SlEl] 5: How would you improve the proposed ecosystem? List what organisms you would add
and explain why. List what organisms you would remove and explain why.

( >

MYSTERY
=kl e TLCE
Wb of Life | Perdformance Task



StEl] B: The Mars ecosystem began with a healthy level of carbon dioxide, but changing the
organisms will change the carbon dioxide level.

Does adding the organism
. Type of Organism
ADDED organism : INCREASE or DECREASE the
e e carbon dioxide level?
, Does removing the organism
REMOVED organism Type of Organism INCREASE or DECREASE the

{Praducer. Animal, Decomposear) b o L

CHALLENGE QUESTION: If your carbon dioxide levels are too LOW, how could you raise them?

If your carbon dioxide levels are too HIGH, how could you lower them?

MYSTERY
=kl e TLCE
Wb of Life | Perdformance Task



S|IEUS PUE ‘SULIOMUIES
‘wod je3 ose
‘Sjaway 111 s3quny sepdisiea sy ~ jwiny sBngyyd
12ams fw ano) 3w [ea sjdoad puUE ‘SIEUS ‘SLIOMYMED
sjeob pue SLW0S 108 U U ¥IBeUs Os|E ||| S22
‘sBid ‘suayogo "sig|lidialeD U3A3 pue "safiaung
‘sapaag ‘s ..w._..__,w".h__ =0 S2ll=25N0Y SjaNa12

‘BSIUYIBOINI0D ‘S3f230
—anbuo) Ayans Buoj Aw
Uiim S10asU) je3 |

[SIUOAR) LB} B W |

d|}d9g

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

. ml |IVH 00} 1By} ; ;T r i s Buoy Appep
123 Il ‘1Eaym e uaaa pue ‘sig|dizien

pUE Woo pohaglsine ‘SaYIBEONI0I ‘SjUE

aney nok J| e e ‘sjaxaua jea | puncib auy

* : sjg.unbs ‘ssaydob uo awy puads JBY] S}oasul

BY pajea ‘sseib ‘30w ! !

uo Aaud | 001 ‘Juny o 3y

iie sseib uo yoaunw pnoa | | INg "PO0} 189 183 | S3A

Japids

mog Alte(] Surdwing

181 asNoy

P2Up 2¥1) uaA2 | Aep _ | uo souncd |

ol

"S3fja3q pue S1a%ouD Jea |
S3LWNBWOS PUY "S30JELWO]
10 IUIY22NZ 3] sa3pgejaban :
UD ¥IBUS JO “(SWo0e

1) siNU pue spaas ;

je=a OS[E |11 ¥ puy ued :

M USYM—pOO) UBWINY !
1E2 SW 21| 30 B3y m
"B533UD JES 32 UDOPED :

N I N R PR e i e e e e e - . 0 S A O O N S O

@
7]
=
=)
—

Yse| douewopay |
aiifjoqgapm |

¥EE| S0UBLLYE | 3] Jo gam C

souslc AMALSAM |

P T L R R R T e L T T T T R

||||||||||||||||||||||||||||||||||||



*% qruus pue teaym

g~ ™ ‘szan ‘saibban

' joo) s1amoy pue ] . © isuBwNy USAS _ m il ety
oy ﬂEum iy Maﬂmm u t'Ng  isel aw puy ! ¥ . _umt_u”__ Aey aue ﬂrEE
Emﬁﬂt”%ﬁneﬁa m seuiue fuep i ! A -sweid 3y | Augesy

'S20jEWO] '3INY3| : RO 0 Byt <l | ! " Aeis o} ing iBumpluana
‘maib oy yybinuns “ ‘SIBMO|} USAD PUB m BURES 0§ UMOL LW

40 Bupioo] 31,004 Ji spaau jey) uiesb e w | ' ‘S3ABS] ‘LIOD [Ny SA0) | |

uapiey) 31333\ _ 1831\ _ m 8l | Je0y

"BPISUl SP33S UM
sa|dde oju wn} siIamoy

“ 3y} ‘BN JBAD jSiamoy “suapieb
" 3JE 213y} ‘sayoueig Aw a|gejeban woy sjued ; puncub ay)
m uo moub sajdde ,  Asisied pue sases) joued 1 Buymeras Ag puy uea |
m g, SU0JIE SIPUD “ 1ea Auo | sajea Ayoid e + sbBng Aup =y osie | jsuesb
"SJ3JIUD JO S)0] JOy Yaun) m 4 R Auew Joj yoeus m w | ‘siepdizien Ausw 3y ,  PUE 'W0D ‘spa3s ‘siamoy
5 JEY] "Spa3s JO sjo| Dol SNORMNU “ " ‘sseub ‘spny ‘sajgejaban
PUE S3AE3] JO 50| SARY | PO uﬂﬂm ol B m ! 2y sjuepd anoy |

R | Ie||idia)en _
mmemE:___E__E;a___wamm =$_u=_u

: | e e | a0 o
“ : ~ AHIALSAH



....................................................

NS SOURLLCKS | ST O Gaw,
o JUDIOS
AHILSAM












Web of Life -

Data:
Unit Assessment

-
()

\

SUN

. —# +¥
GREEM I"LlI'IITE- TRICERATOPS TYRANNOSAURUS REX

The image above is a simple model of how energy flows through a dinosaur food chain. The armows
represent energy moving through the food chain. Use this model to answer Questions 1 & 2.

1. Scientists think that Tyrannosaurus rex was able to run at a speed of 12 miles per hour. Where
did T. rex get the energy that it used to run when it was alive?

a. T rexgotits energy from Triceratops. That energy is not connected to the Sun.

T. rex got its energy from green plants, which got their energy from the Sun.

c. T rexgotits energy from eating Triceratops. Tricerafops ate green plants and green plants
got their energy from the Sun.

d. T rexgotits energy directly from the Sun.

8

2. Scientists think that the dinosaurs went extinct because an asteroid hit the Earth and created a
giant dust cloud that covered up the Sun. Diego doesn't think this explanation makes sense. He
says, "Some dinosaurs ate other dinosaurs to get their energy. Why would removing the Sun cause
the camivores to go extinct?” Explain to Diego why carnivores would go extinct without the Sun. You
can use evidence from the energy model above.

MYSTERY :c1cnce
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The images above show organisms that are part of a forest ecosystem. Use these images to answer
Questions 3, 4, and 5.

3. Connect the organisms of the forest ecosystem with arrows to create food chains. Each ammow
should point in the direction of how material {matter) travels in each food chain. For example, a
squimel eats acoms from an oak tree, so you would draw an arrow from the oak tree to the squirmel.

4. Scientists are worried that a disease that kills cak trees will spread into this forest. What would
happen to this ecosystem if all the oak trees suddenly disappear? Choose all comect answers.
a. [If there aren’t any oak trees, the squirmels will not have anything to eat. They will need to find
another fodd source or they will not survive.
b. If there aren’t any oak trees, the robins will not have anything to eat. They will need to find
another food source or they will not survive.
c. [Ifthere aren’t any oak trees, the hawks may not have anything to eat because the squirrels
and robins may not survive.

5. Amir released some pet frogs into the forest ecosystem shown above. These frogs eat
earthworms and crickets. Hawks, robins, and squirrels do NOT eat these frogs. What will
happen to this ecosystem if the frogs star living here? Choose all commect answers.
a.  The dead leaves will pile up because the frogs will eat all the decomposers. The
decomposers will not be there to eat the leaves.
b.  The squirrels will not have anything to eat. They will need to find another food
source or they will not survive.
c.  The robins will not have anything to eat. They will need to find another food source
or they will not survive.

d. The hawks will not have anything to eat. They will need to find another food source
or they will not survive.

ks
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6. Ana wants to open a plant store, but she's
worried that it will cost too much money. Ana
thinks that as plants grow, they use the
material from the soil to get bigger. Potting
soll costs a lot of money. Ana is worried she
will need to buy a lot of soil to feed her plants.
She decides to set up an experimant. Ana
grows one plant in a pot for 3 weeks. She
weighs the plant and the soil at the start and

end of the experiment. - STAHT EHB

The results of Ana's experiment are shown PLANT 300 grams | 800 grams
to the right. What did Ana find out with her
gxperiment? Circle TRUE or FALSE for Sﬂ". 800 grams 800 grams

gach of the senlences below.

TRUE FALSE The plant weighed the same at the start and end of the experiment.
TRUE FALSE The plant weighed more at the end of the experiment.

TRUE FALSE The soil weighed the same at the start and end of the experiment.
TRUE FALSE The soil weighed less at the end of the experiment.

7. Do you think Ana should be worried about the cost of soil for her plant store? Why or why
not? Provide an argument based on the results of her experiment.
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START OF EXPERIMENT

PLANT A
300 grams

PLANT B
150 grams

Ana decides to do another experiment. She starts with two plants, Plant A and Plant B.
Each plant weighs 300 grams. She attaches Plant A to a vacuum. The vacuum pumps all of
the air out of the container around Plant A. Plant B is not attached to a vacuum, so it has air
around it. Ana gives Plant A and Plant B the exact same amount of water. She runs the
experiment for 3 weeks and then weighs the plants at the end of the experiment.

8. Looking at Ana's experiments, what is a claim that you can make about plants and their
growth?

a. Plants mostly use materials from the soil for their growth.

b. Plants mostly use materials from water for their growth.

c. Plants mostly use materials from sunlight for their growth.

d. Plants mostly use materials from the air for their growth.

9. What evidence do you have to support your claim from the question above? Provide an
argument using evidence from Ana's experiments to support your claim.
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